PIK, 187,90

Pale paw. WYKOP = 0,00m2

Pale paw. NASYP = 0,07m2

Pole pow. WYROWNAWCZA = 0,18m2

PP = 94,00m

RZEDNE PROJEKTOWANE

105,63
105,69
105,69
105,69

RZEDNE SPODU
PROJ, NAWIERZCHNI

RZEDNE FREZOWANIA

74
741105,784105,82

I
I

7105,681105,734105,77

RZEDNE TERENU

)

105,71 103,71 4105,734105,77

105
1105,744105

109,62+
4105,68

ODLEGLOSCI

62 4

=380
el
3,00

PIK. 300,00

Pale pow. WYKOP = 0,00m2
Pole pow. NASYP = 0,08m2

Pole pow. WYROWNAWCZA = 0,15m2

PP. = 94,00m

PIK. 221,70

Pole pow. WYKOP = 0,00m2
Pole pow. NASYP = 0,09m2

Pole pow. WYROWNAWCZA = 0,07m2

PP. = 94,00m
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Pale pow. WYKOP = 0,00m2
Pale pow. NASYP = 0,10m2

Pole pow. WYROWNAWCZA = 0,15m2
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PIK., 251,40

Pole pow. WYKOP = 0,00me
Pale pow. NASYP = 0,07me
Pole pow. WYROWNAWCZA = 0,16m2

PP, = 94,00m
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PIK., 328,00

Pole pow. WYKOP = 0,00m2
Pole pow. NASYP = 0,11m2
Pole pow. WYROWNAWCZA = 0,22m2

PP, = 94,00m
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PIK, 2/2,20

Pole pow. WYKOP = 0,00m2
Pole paw. NASYP = 0,07m2
Pole pow. WYROWNAWCZA = 0,10m2
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PP. = 94,00m
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PIK, 387,80
Pale pow. WYKOP = 0,00m2
Pale pow, NASYP = 0,1lm2
Pole pow. WYROWNAWCZA = 0,15m2
PP. = 94,00m
RZEDNE PROJEKTOWANE L & N
B 3 B ey
RZEDNE SPODU % 3 e
PROJ. NAWIERZCHNI g 8 =]
RZEDNE FREZOWANIA == &N |
0 e =
RZEDNE TERENU s & =2
EoRe ) B9
ODLEGLOSCI oW
het:s] SUsiNTs] o DN DD
& [FPYY & dased

-2
-2,96
0,00
2,56
2,79
3,56




